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of maps,
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15 minutes time has been allotted to read this guestion paper. The question
paper will be distributed at 10.15 am. 'rom 10.15 a.m. fo 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period.
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There are 26 guestions in all.
All gquestions are compulsory,
Marks of each question are indicaled against it

Queslions nuwmber 1 o I0 are very shorl answer guestions
carrving 1 mark each. Answer to each of these guestions should
not exceed 20 words.

Questions number 11 to 20 are short answer questions carrving
3 marks each. Answer lo each of these guestions should not exceed

B0 words.

]

Guestions number 21 to 25 are long answer questions carrving
& marks each. Answer to each of these guestions should not excead

150 words.



(vit)  Question number 26 is related to identification or locating and
labelling of geopraphical features on maps.

(viti) Outline maps of the World and India provided o you must be
attached within your answer-book,

(ix)  Use of templates or stencils for drawing outlline maps is

allowed.

1. SHEEn & o 9 & 8§ 7 !
When does the positive growth of population take place 7

2. gy et qmity S9EE U A S F W U9EE aaEd | 7

Mention the general criteria for differentiating rural and wurban
population,

3. favs & i 2w Tes wd § AW A Lilog
Name any two popular tourist regions of the world.

4. =R FR FEo £ 7 1
What is trade 7

5. 1991 -2001 % 2fe wnA % Few v 8 wavden &) ofg @ oweE wm @ 7 I

Which state of India registered the lowest growth rate of population
during 1991 — 2001 7

6. 0-6F oY 91 7 TaH FA dee (o 0T a1 970G & T & AH FET | 1

Name the state of India having the lowest female child ratio 0 — 6 years.
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10.

11.

12,

13.

14,

"HaE TR v F afamn e o 1
Define the term Metropolitan City’

s-cfen TR w1 TR Ffen AW R 2 7 1
Which ia the Northern terminal city of North-South Corridor ¢

IR % Fod Hewgnl UEEg wemnl oA sy | !

Name the moat important National waterway of India.

sl g & el & wid & Ieens Fie | ;'z{‘f

Mention any two sources of noise pollution.

T w WA R TR g §, sEm afen Ty s | 3x1=3

Explain with examples how naturalisation of humans take place.

W E O AT S fawedr w5 AT & weer eI wween o 9 w1
IE T T W F49 W e e Fe | 3x1=3

“Very often, people do not have the capability and freedom to make
even basic choices.” Juslily this stalement with suitable arguments.

gan H w3 fue W A wnges RBfmin @ R T s w5 o9A
T | Ini=3

Describe  any  three characleristics of modern large  scale
manufacturing in the world.

oiE ® TR ¥ el o ey OROE S S St | 3xi=3

Explain any three environmental consequences of maugration in India.
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15. A= feu o 9nm % wAfEE w0 amEs #ifae ST 39w AW e oow wvEt & s
S 3x1=3

(15.1) WIiEEE & 99 § @M, 9% & 98 S0-9 T &, 98 U & HeEmT
R ?

(15.2) =% TE=IR0T TTET W AW TR |
(15.3) T/ =Y & I I WEEY T8 F T9 995, A9 96T & T=E TR 9@
-
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Study the map of India given below and answer Lthe questions that follow

SE e wE B B [ o o= E

o R INDIA o
METROPDLITAN CITIES, 2001
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ARLERER 5 AN DGR AW
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(ST
: I 200 & BB fiiu '_: .
[LLTER PEEAN i
e ™ f 23 ' "R b
L 1 1 i 1

{156.1) Which state of India, bordering Pakistan, has only one
metropolitan city 7

LeXEHA DWEEF

(15.2) Name this metropolitan city.
(15.3) Name two melropolitan citics of Uttar Pradesh, which are also
ancient towns of India.
e : frefetaa wor a0 giegia aiienl@al & (50 997 4@ 15 & 7 w8
Naote : The following question is for the Blind Candidates onlyv, in lieu of
Q. No. 15 :
fafym ool ¥ 9% fawm & o9 W A FR W aiEr ey | A6 b
A e R & A o weEr ) 12413=3

Claasify the Indian towns on the hagiz of their evelution in different
periods. Also name any three ancient towns of India.
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16.

byt

18.

19,

TRAg Y B HmE a0 aeeiei # SR Siag | 3x1=3
Explain any three problems of Indian agriculture.

‘AT A TEEUr WEE & 9T ST | 99 9w TEee & el 9 AWl T 3o
wfeT | 1+2=3

Define the term ‘Rainwater Harvesting’. Mention any four advantages
of rainwater harvesting.

wre W @fe twmeA | T & gEveEa w2 7 el A s ne § s
FifaT | Ixl=3

Why is there a need for the conservation of mineral resources in
India ? Explain any three reasons.

S U AT F UE TE T § % R fimm e sia w1 st
FT S 0% 9 RU oA & I AT Ix1=3

a2

16 fnat
’ ® T
ERIge gt Yy TE-3TR®

—:—JEF! E":uq

(19.1) 39 IO0% G499 & TewiU AR W AW fEfEu |
(19.2) =9 9499 & fow o & € il & AW gaey |
(19.3) == 949 & fou 5= uw & =i &40 2 7
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Study the diagram showing the location of a major steel plant of
India given below and answer the questions that follow :

I

To Bokara |

——

% Stecl Plant
@ Limestone
< Iron-ore
S

(19.1) Identify and name the steel plant.
(19.2) Name two sources of water for this plant.
(19.3) Which are the sources of raw materials for this plant 7

e fonfalan 7o da07 grEeiT aranda) & (60 yo7 vew 19 % &9 W 2 .
Note : The following question s for the Blind Candidates only, in lieu of
. No 19

I fiodt T 3wed &9 0 o il o sd 7 R Al il ol swen
Fifa | Ix1=3
Why are sugar mills located within the cane producing regions 7
Explain any three reasons.

20. W WS & yEe fod & Uromme fEm wve ¥ 4 7 oW = % O 5|
ER TR HEE F ogEA, 9T B SN TER TEiEW fm # 2 Iwe o mw
ENEL - 3xi=3

How have the Bhils is ‘Petlawad Block’ of Jhabua district of Madhya

Pradesh revitalised large parts of common property resources through
their own efforts ? Explain with examplea.
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21, ¥R § HeT P 3 THIGT F 3 % FES W S iET | E@E F 3 TER
0§ 7 vEs 1 -8 v S 24+1+2=5

Explain two factors affecting mining activity in the world, Which are
the two types of mining ? Write two features of each.

22, FeH @ T 4 fawiten SifEw 1 den & fafae <ul % gew tliEed # fe
TR WEeO fAEEesT A o s 9+142=5

Classify roads into two categories. Explain any four significant
features of the road transport of developed countries of the world.

28. sinlvl =N % ) ol snedl & smen #ET 5x1=5

Explain any five bases of international trade.

24, o ¥ gy &gl & fGem & U IeE R 99 FRF 5 1R 3R | Gxl=5

Explain any five factors responsible for the development of rural
settlements in the world.

25, HOEE =R & fmm & o gt syl aeE @ oaee we i | 5
Explain the gignificance of Indian sea ports for the development of
international trade.

26. (26.1) FOR & W0 WL TG TE-TEEE (59 18) # FEfiEa 97 oEe e

- 4x2=2
A, % A SHEEH % §EH FH ae A o |
B. Tew Gt sEw S W T 47 |
C.  wr-FAfera Tamt @ eifam 2ym |
D. =y s % us e fEEt |

TR U T T # TR R aEE e F e @i T i w
a‘-lﬁ? e A feAfET |
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(26.2)

(26.1)

(26.2)

Note ;
(26.1)
(26.2)

(26.3)

(26.4)
(26.5)

641211

A G Tr werifaa dmramte (ve 16) § FefEfae @ fefy sws

g 2/ foEET 3F 7% 99 ey . 3x1=3
(i) 1991 -—2001 %' 794 ¥ SAEE & J98 &9 05 L @on 79 |

(i) e =g F1 &9 & uE aH |

(i) A I WEW W A A AT FOTF FE |

In the given political outline map of the World (on page 13), the
following four featurcs arc shown :

A The country having lowest densily of population in Africa.
B. An area of extensive commercial grain farming.

C. The terminal station of the Trans-Canadian Railway.

. A mega city of South Amerieca.

Identify the above [ealures and write their correct names on the
lines marked near cach feature. :

In the given political cutline map of India (on page 15), locate
and label the following with appropriate symbols :

(1) The state having the lowest growlh rate of population
(1991 — 2001),

(iiy A coal mine of Tamil Nadu.

(111) A ecotton textile centre of eastern Uttar Pradesh.

Fre=ET 5 Saw eivE Tiane & AT 5T AEm U6 % B W OE

The following questions are for the Blind Candidates only, in heu

of . No. 26: Sxi=5
apfteR T SEEET % e SN T WOl OF W O S |
s ferard wr-meEd Yoo F gd i BYE & Am saEy |

1991 - 2001 #| @M ¥ FoOE 5 TEH &0 gha g1 8o W w
T S 7 7

it o Tt B e e e | e e
I USYT o A 9 I H H 0F R AW Gasy |

10



(26.1)

(26.2)

(26.3]

(26.4)
(26.5)
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Name the country having the lowest density of population in
Adrica.,

Name the easlern Llerminal station of the Australian
Trans-Continental Railway.

Which state of India hasz the lowest growth rate of population
(1991 - 2001) 7

Name any one coal mine of Tamil Nadu.

Name any one cotton textile centre of Uttar Pradesh.
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For question no. 26.1
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Fuor question no. 26.2 e . 26.2 F fow

Outline Map of India (Politieal)
I &1 TG0 - g (THiaS)




